ANnAdyS48 Example Round 6

Continuing the scenario presented in 848 Rules, the Scoreboard projected before North deals 6:

Leader East opens Bid, factoring in that East also Leads opening Card. South bids factoring 2nd, etc.

West North East South TRICKS
2 (N) 4(Y) 0(Y) 1(Y) S
-2 40 10 10
1(Y) 4 (N) 1 (N) 2 (Y) Y |
8 36 9 30
6

West North East South
HEARTS 3 8 9 10
DIAMONDS 10 6 5 K 4 A 9
CLUBS 2 K 10 7 A
SPADES 9 4 J 2
Bids 2

1 1 3
Not 0 (2+3+1+0=6)

West North East South
East Leads K-D
South Wins TRICK 3-D 10-D A-D
South Leads A-C
South Wins TRICK 8-C K-C 10-C
South Leads J-S
West Wins TRICK Q-S 9-§ 4-§




Players' Cards after three Hands

West North East South
HEARTS 6 3 8 9 10
DIAMONDS 6 5 4 9
CLUBS 2 7
SPADES 2

Next three Hands:

West North East South
West Leads 2-C
East Wins TRICK 5-D 7-C 9=D
East Leads 9-H
South Wins TRICK 6-H 8-H 10-H
South Leads 2-S
South Wins TRICK 3-H 6-D 4-D
Scoreboard:
West North East South TRICKS
2 (N) 4(Y) 0(Y) 1(Y) S
-2 40 10 10
1(Y) 4 (N) 1 (N) 2(Y) 7
8 36 9 30
1(Y) 1(N) 2 (N) 3 (N) 6
18 35 7 27
>

Note North: only one Yes, but has the Lead due to one high score.
Also note that while Point Opportunity diminishes towards 4, it does rebound (say 6 Bids x 10...wow).



